BRI Y VAKEI1— AKX
[T 7=1)—DF] - {AADER] 1,

1T00m

— R

AH3—hk -

% B #9615 (L) ~ B k15 1E m R B (T YaRL)

Q773)—DE | BRLUTOFE 9:15
1, 100m REE ' ~ % BWILI5

START



YTV VREI—R

\>\<

B
[T 7=21)—D3] - MEAADEE] 1, 500m
R H—k .
g B NERE 2 R - 2
@773 —DER | INEEL _
1, 500m RiEE 9:35
SEADE | PTEB| es5 | sEHES~BHSARB~SENLS
4~6HF4%
@3@5)(\)?%“ gL E| 10015
' m D&t

START



BEXY VA= —X[X
[BEADEE] 3, 000m

EN DRI N
FEARISET Y ==k

Jp— ABA—hk _
O—XERE | RE =R - 4

% BMILIE ~HIKIGIEEAE~HKGA D () ~

eEADE |2 0FE
| "k | 10:35 |(ETEEILLL) ~ MRS YRL~ (BT L)
~BEIBAD () ~BRBEERE~ 2 HMES

3, 000m T
1




BEXTY VA= —XX
[BADEE] 5, 000m

Fig

8%

LB v

NESDERIE —

- - -~ - XBRB1FABE(ER)

25— _
® B T I T2
. £ 8B5S 1 ~ BERIBSNE 1 B ~ BERIB A D () ~
OESOH | PEE | 11.05 [(AEELE) ~REIEFYEL~ (AEELIER)
' " ~ BB AL (£5) ~ BRI E2A ~ % B LS




